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Chapter 2

EXERCISE 2-10 Varying Predetermined Overhead Rates (LO3, LO5)
Javadi Company makes a composting bin that is subject to wide seasonal variations in demand. Unit Product costs are computed on a quarterly basis by dividing each quarter’s manufacturing costs ( materials, labor, and overhead) by the quarter’s production in units. The company estimated costs, by quarter, for the coming year are given below:

	                                                                         __________________Quarter_____________________

                                                                           First                Second              Third             Fourth

	Direct Materials                                                 $240,000         $120,000           $60,000         $180,000

Direct labor                                                            96,000             48,000             24,000             72,000

Manufacturing costs                                            228,000            204,000           192,000           216,000
Total manufacturing costs                                  $564,000          $372,000         $276,000         $468,000

Number of units to be produced                             80,000              40,000             20,000            60,000

Estimated unit product cost                                       $7.05                $9.30             $13.80              $7.80


Management finds the variation in the unit product costs to be confusing and difficult to work with. It has been suggested that the problem lies with manufacturing overhead, since it is the largest element of cost. Accordingly, you have been asked to find more appropriate way of assigning manufacturing overhead cost to units of product. After some analysis, you have determined that the company’s overhead costs are mostly fixed and therefore show little sensitivity to changes in the level of production.

Required:

1. The company uses a job – order costing system. How would you recommend that manufacturing overhead cost be assigned to production? Be specific, and show computations.

2. Recompute the company’s unit costs in accordance with your recommendations in (1) above.

Solution:

1.
To determine the factory overhead applied, we use a predetermined overhead rate whereby at the beginning of the year each production department makes an estimated of the total overhead costs and expected activity for the year.  The estimated overhead costs are then divided by the estimated activity to get the predetermined overhead rate.  

First, we need to determine the total overhead costs and expected activity for the year.





First
      Second
   Third

Fourth 
= Year

Manufacturing costs                      228,000            204,000           192,000           216,000   = 840,000
Number of units to be produced      80,000              40,000             20,000             60,000   = 200,000

Predetermined factory overhead rate 
= estimated factory overhead costs for the year




                       estimated activity for the year





= $840,000





   200,000 units






= $4.20 per unit
2. 

We will use the predetermined factory overhead rate to multiply with the estimated product produced to come up with the new manufacturing costs in order to obtain the new total manufacturing costs and new estimated unit product cost.





                First
           Second
         Third          Fourth
Direct Materials                                                 $240,000         $120,000           $60,000         $180,000

Direct labor                                                            96,000             48,000             24,000             72,000

Manufacturing costs                                            336,000            168,000            84,000           252,000
Total manufacturing costs                                 $564,000         $336,000         $168,000         $504,000

Number of units to be produced                             80,000              40,000             20,000            60,000

Estimated unit product cost                                      $8.40                $8.40               $8.40              $8.40
Good work!
Chapter 3

EXERCISE 3-9  Assigning Overhead to Products in ABC (LO3) 

Refer to the data in Exercise 3-8 for Sultan Company. The activities during the year were distributed across the company’s four products as follows:

	                                                 Actual            Product      Product      Product      Product

Activity Cost Pool                   Activity               A                B                C                D

	Labor related                                   25,000 DLHs          6,000            10,000              4,000               5,000

Purchase orders                                    200 orders               60                  30                   20                     90

Parts management                                110 parts type          30                  25                   40                    15

Board etching                                    1,800 boards             500                900                 400                      0

General Factory                               22,000 MHs            3,000              8,000              5,000               6,000


With limited information regarding the business type of Sultan Company given in Exercise 3-8, I have made my best assumption to solve the problem.  First, we determine that labor related is regarded as direct labor cost while board etching is regarded as direct materials.  Therefore, the remaining activities are regarded as the overhead cost, whereby we need to multiply each activity with the cost assigned.  However, you might need to look back for the information in Exercise 3-8.  

First you had to determine the activity overhead rate per product based on the actual activities divided into the overhead pool, see below: 

[image: image1.emf]                                      Actual                Activity cost pool         Activity      Expected Overhead cost     Cost per product        L abor related                 25,000                 $156,000                            6.24   Purchase orders                  200                   $11,000                          55.00   Parts management              110                   $80,000                         727.27   Board etching                  1,800                   $90,000                          50.00   General factory              22,000                 $180,000                            8.18    


Then you calculated the each product cost based on the overhead rate!

[image: image2.emf]Cost        Product       Overhead Applied   Activity cost pool        per unit    A Units       to Product A      _        Labor related                  6.24         6000               $37,440   Purchase orders             55.00            60                 $3,300    Par ts management       727.27            30               $21,831   Board etching                50.00           500              $25,000   General factory                8.18        3,000              $24,540       _      Total overhead for product                                  $112,111                                                                                                                      Cost       Product       Overhead Applied   Activity cost pool        per unit    B Units       to Product B      _        Labor related                  6.24      10,000               $62,400   Purchase orders             55.00            30                 $1,650   Parts management       727.27            25               $18,181   Board etching                50.00          9 00              $45,000   General factory                8.18       8,000              $65,440      _                                                                               $192,671                                              Cost       Product       Overhead Applied   Activity cost pool        per unit    C Units       to Product C      _        Labor related                  6.24        4,000               $24,960   Purchase orders             55.00            20                  $1,100   Parts management       727.27            40               $29,090   Board etching                50.00          400              $20,000   General factory                8.18       5,000              $40,900     _                                                                               $116,050                                        Cost       Product       Overhead Applied   Activity cost pool        per unit    D Units       to Product D      _        Labor related                  6.24         5,000               $31,200   Purchase orders             55.00            90                 $1,100   Parts management       727.27            15                 $4,950   Board etching                50.00              0                          0   General facto ry                8.18       6,000              $49,080     _                                                                               $86,330   Why not!  
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Required:

Compute the amount of overhead cost applied to each product during the year.

PROBLEM 4-17      Comprehensive Process Costing Problem – Weighted –Average

Method    (LO1, LO2, LO3, LO4, LO5)

Techno Co. produces a special kind of tool that is widely used by construction. The tool is produced in two processes: bending and drilling. Raw materials are introduced at various points in the Bending Department; labor and overhead costs are incurred evenly through the bending operation. The bent output is then transferred to the Drilling Department. 


The following incomplete Work in Process account has been provided for the Bending Department for May:


                       Work in Process – Bending Department
	May 1 inventory  (12,000 units; materials 80% 

                 complete; labor and overhead 60% 

                 complete)                                         45,369 

May costs added:

Raw materials  (270,000 units)                       394,210

Direct labor                                                     638,144

Overhead                                                         493,584


	  ?       Completed and transferred

                  To drilling ( ? Units)

	May 31 inventory (9,000; materials 

       90% complete; labor 

      and overhead 60% complete)                        ?  


	


The May 1 work in process inventory in the Bending Department consists of the following cost elements: raw materials, $13,385; direct labor, $18,880; and overhead, $13,104. Costs incurred during May in the Drilling Department were: materials used, $100,800; direct labor, $250,600; and overhead cost applied to production, $189,000.

The company accounts for units and costs using the weighted–average method.

Required:

1. Prepare journal entries to record the costs incurred in both the Bending Department and the Drilling Department during May. Key your entries to the items (a) through (g) below.

a. Raw materials were issued for use in production.

b. Direct labor costs were incurred. 

c. Manufacturing overhead costs for the entire factory were incurred, $685,000. (Credit Accounts Payable.)

d. Manufacturing overhead cost was applied to production using a predetermined overhead rate. 

e. Units that were complete as to processing in the Bending Department were transferred to the Drilling Department, $1,536,990.

f. Units that were complete as to processing in the Drilling Department were transferred to Finished Good, $1,650,000.

g. Completed units were sold on account, $2,700,000. the Cost of Goods Sold was $1,600,000.

2. Post the journal entries from (1) above T-accounts. The following account balances existed at the beginning of May. (the beginning balance in the Bending Department’s Work in Process account is given above.)

	Raw Materials                                      $500,000

Work in Process-Drilling Department    $10,000

Finished Goods                                    $110,000


After posting the entries to the T-accounts, find the ending balance in the inventory accounts and the manufacturing overhead accounts.

      3. Prepare a production report for the Bending Department for May.

Solution:

1. Prepare journal entries to record the costs incurred in both the Bending Department and the Drilling Department during May. Key your entries to the items (a) through (g) below.

a.
Raw materials were issued for use in production.

Work in Process – Bending Department

394,210

Work in Process – Drilling Department 

100,800


Raw Materials






495,010

b. Direct labor costs were incurred. 

Work in Process – Bending Department

638,144

Work in Process – Drilling Department 

250,600


Salaries Payable





888,744

c. Manufacturing overhead costs for the entire factory were incurred, $685,000. (Credit Accounts Payable.)

Manufacturing overhead 



685,000


Accounts Payable





685,000

d. Manufacturing overhead cost was applied to production using a predetermined overhead rate. 

We need to first find the predetermined overhead rate.  Since the raw materials are added to produce an additional of 270,000 units, we will use it as the estimated activity for the month

Predetermined overhead rate 

= estimated overhead costs for the month




                       estimated activity for the month






= $685,000





   270,000 units






= $2.54 per unit
Therefore, we can multiply predetermined overhead rate with units and applied according to units produced in May.

Work in Process – Bending Department
                 685,000


Manufacturing overhead incurred and applied

685,000

e. Units that were complete as to processing in the Bending Department were transferred to the Drilling Department, $1,536,990.

Work in Process – Drilling Department

1,536,990


Work in Process – Bending Department


1,536,990

f. Units that were complete as to processing in the Drilling Department were transferred to Finished Good, $1,650,000.

Finished Goods Inventory



1,650,000


Work in Process – Drilling Department


1,650,000

g. Completed units were sold on account, $2,700,000. the Cost of Goods Sold was $1,600,000.

Accounts Receivable




2,700,000


Sales Revenue






2,700,000

Cost of Goods Sold Expense



1,600,000


Finished Goods Inventory




1,600,000

Good journal entries but where are the t-accounts balances and the production statement for the bending department…
ETHICS CASE       (LO2, LO4, LO5)

Thad Kostowski and Carol Lee are production managers in the Appliance Division of Mesger Corporation, which has several dozen plants scattered in locations throughout the world. Carol manages the plant located in Kansas City, Missouri, while Thad manages the plant in Roseville, Oregon. Production managers are paid a salary and get an additional bonus equal to 10% of their base salary if the entire division meets or exceeds its target profits for the year. The bonus is determined in March after the company’s annual report has been prepared and issued to stockholders. 


Late in February, Carol received a phone call from Thad that went like this:

Thad: How’s it going, Carol?

Carol: Fine, Thad. How’s it going with you?

Thad: Great! I just got the preliminary profit figures for the division for last year and we are within $62,500.00 of making the year’s target profits. All we have to do is to pull a few strings, and we’ll be over the top!

Carol: What do you mean?

Thad: Well, one thing that would be easy to change is your estimate of the percentage completion of your ending working process inventories.

Carol: I don’t know if I should do that, Thad. Those percentage completion numbers are supplied by Jean Jackson, my lead supervisor. I have always trusted her to provide us with good estimates. Besides, I have already sent in the percentage completion figures to the corporate headquarters.

Thad: You can always tell them there was a mistake. Think about it, Carol. All of us managers are doing as much as we can to pull this bonus out of a hat. You may not want the bonus check, but the rest of us sure could use it.


The final processing department in Carol’s production facility began the year with no work in process inventories. During the year, 270,000 units were transferred in form the prior processing department and 250,000 units were completed and sold. Costs transferred in form the prior department totaled $49,221,000. No materials are added in the final processing department. A total of $16,320,000 of conversion cost was incurred in the final processing department during the year.

Required:

1. Jean Jackson estimated that the units in ending inventory in the final processing department were 25% complete with respect to the conversion costs of the final processing department. If this estimate of the percentage completion is used, what would be the Cost of Goods Sold for the year?

The conversion cost is the cost of 100% complete work on the 250,000 units sold, plus 25% complete work on 20,000 units in the inventory. A 25% complete work on 20,000 units is equivalent (for calculation purposes) to 100% complete work on 5,000 units.

( The conversion cost on the 250,000 units that were sold = 16,320,000 ( 250,000/255,000 = $16,000,000
( Cost incurred form the prior department = $49,221,000 ( sold units/total units

      = $49,221,000 ( 250,000/270,000 = $45,575,000

( Cost of goods sold for the year = $16,000,000 + $45,575,000 = $61,575,000.
2. Does Thad Kostowski want the estimated percentage completion to be increased or decreased? Explain why.

Thad wants the estimated percentage completion on the ending inventory to be increased over 25% so that the cost of the goods sold will appear to be lower that reality and will be mistaken as a cost of completion. This will consequently bump up the profit estimates to the target profits, as Thad wants. 

3. What percentage completion figure would result in increasing the reported net operating income by $62,500 over the net operating income that would be reported in the 25% figure we used?

According to the above calculations, the 25% complete work on 20,000 units in the inventory cost $16,320,000 - $16,000,000 = $320,000. So each 1% increase in completion will cost 1/25 ( $320,000 = $12,800. So to get an increase in the reported net operating income by $62,500 over the net operating income that would be reported in the 25% figure, the percent completion would have to be 25% + 4.9% = 29.9 % 

4. Do you think Carol lee should go along with the request to alter estimates of the percentage completion? Why or why not?

Definitely Carol should not go along with the request to alter estimates of the percentage completion simply because it is an unethical business practice. To gain a bonus based on false bookkeeping is unethical and will set a bad example to the employees and everyone concerned with the well-being of the company.

This bring into question the ethic issue of cost being recorded in the same period as sales incurred. By increasing the work-in-process, thus reducing COGS for finished goods is not a ethical practice; delaying cost to be posted thus increasing the profit margin. To increase net income by corresponding decreasing cost of goods sold and subjectively and erroneously increasing work-in-process is not a generally accepted accounting principle (GAAP)!
Can someone help me finish 14-17, and 4S-4 using the link below.
Chapter 4 FIFO Supplement

Brief Exercise 4S-4 Cost Reconciliation – FIFO Method, PowerWeb,

http://highered.mcgrawhill.

com/sites/dl/free/0072817879/131345/bre7879_ch04s_web.pdf (pp.

S8-S9)
